H 2 0 & A S Al A
243 = 20|ah LBHS|IH MEXIF
A MEXS
B MBTT 84
&l MEHs2dst (Ehel &2
S - B S(B) - NISAY - BAS S SR HIDS2
MBIt 9,544,122 7,439,469 2,154,653
= 298,454
J| 1,050,336
Al 343,754
- 7,901,578
MEHE 54 3,008,032 2,348,050 659,982
= 298,454
| 907,788
Al 343,754
- 1,458,036
MEH S8 L3} 3,008,032 2,348,050 659,982
= 298,454
J| 07,788
Al 343,754
- 1,458,036
MEHsss & 769,428 790,092 AN20,664
= 220,199
Al 110,100
- 439,129
201 Ler23d| 2,760 2,820 260
03 A2 FH| 2,760 2,820 260
S0i| & 2,760 2,820 260
NEAEY £ 2274 2,000,000& 2,000
N E&E 4,750 *1600H 760
203 FRF=EH| 3,200 3,200
03 AMEFRHLFXIY| 3,200 3,200
20i & 3,200 3,200
NMEHSES Xd LRFX
3,200,000& 3,200
307 QIZtol ™ 763,468 784,072 A20,604
= 220,199
Al 110,100
- 433,169
02 RIZHBAAIEE X 240,300 245,000 A4,700
20l & 240,300 245,000 24,700
NMEXSUS Nzl & 201 X 228,700
2)7EEIIUS N 165,000,000 165,000
2)FE SIS = 28,500,000 28,500
2)NESI DI =} 7,200,000 7,200
2NED| & M2 &It 9,000,000& 9,000
INZAMAMUSA &It
19,000,000& 19,000
NHS3 Al X 11,600
2)NOHEA NEE(ER1) 3,000,000 3,000
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M MEHSH
M. MBS S

o= = TS
Ciol: MET B2 (crel: &g
S - B - S(B) - NIRAR - BHAS (ggj) @%ﬁg‘”ﬁ‘” D=2
2)KHEAl WEE(ZE) 5,600,000 5,600
2)3AE=2CH 4 X 3,000,000 3,000
03 OIZIHH B 2HHIE X 523,168 539,072 A 15,904
= 220,199
Al 110,100
- 192,869
S0 A 523, 168 539,072 A 15,904
= 220,199
Al 110,100
- 192,869
NAERHEE 29H| X 82,770
)X =& = 67,138,000& 67,138
2)ARA 29| 2 SERY
10,632,000 10,632
2)222=2 2 K] 5,000,000& 5,000
NLAERH=E MEHKSXCSA 2121H]
Y HE= II% 440,398,000 440,398
= 220,199
Al 110, 100
- 110,099
Zofel MEtissEs KA 218,414 232,268 N 13,854
= 78,255
Al 39,128
- 101,031
307 21z2to|™ 218,414 232,268 N13,854
= 78,255
Al 39,128
- 101,031
02 QIZIEAAIE T 29,830 28,270 1,610
S0 A 29,830 28,270 1,610
NEHC! MEHSEE XS
15,500,000& 15,500
NLER s010 MEHSA
4,000,000 4,000
NAS2 M IMI2ZUS &t
K& 3,000,000& 3,000
NASAl ZHOHQ! MEHIKH =2IF XIS
2,980,000& 2,980
1) EHE &0l HOIEZS Hal M=l X
& 4,400,000 4,400
03 OIZIH B 2HHIE X 188,534 203,998 N 15,464
= 78,255
Al 39,128
- 71,151
S0 A 188,534 203,998 AN 15,464
= 78,255
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2A: MEXYF
Mzl MEE 4
Ciel: MBS SE A (el @2
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
1SHAIRY & ot ae| 48,000,000 438,000
1)HAMEE 5,000,000 5,000
1)&I] & JIE|E 46,000,000& 46,000
203 YR =& 1,500 1,500
03 AIZHF=RIAR =AY 1,500 1,500
S0 A 1,500 1,500
1020l S=01& 29 g2=4
1,500,000& 1,500
A=7 SEHAF HIAE} 95,570 59,170 36,400
201 LB A 93,400 57,000 36,400
01 AtR2teldl 1,400 0 1,400
=0 A 1,400 0 1,400
NEIIRKY =& S 1,400,000& 1,400
03 A2 HH| 92,000 57,000 35,000
S0 A 92,000 57,000 35,000
1)EEE HZ 4,000,000 4,000
1)8AF 2| 58,000,000& 58,000
NHE L S0sAI 30,000,000& 30,000
203 HR=AH| 2,170 2,170
03 AIZHF=RIAR =AY 2,170 2,170
=0 A 2,170 2,170
1)28tA HAEH HRFX 2,170,000& 2,170
AZRUI0IESH K& 1,116,000 841,320 274,680
J| 781,200
Al 167,400
- 167,400
301 LEIEN= 1,116,000 841,320 274,680
J| 781,200
Al 167,400
- 167,400
01 Al B AL B (2DEXMH) 1,116,000 841,320 274,680
J| 781,200
Al 167,400
- 167,400
S0l A 1,116,000 841,320 274,680
J| 781,200
Al 167,400
- 167,400
NAZ=2AX0|IEH X
100,000& x930H » 12& 1,116,000
J| 781,200
Al 167,400
- 167,400
ZOHQIAZ=AL0IE2H KA 180,840 100,320 80,520
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SN MBS

Hu MEHS SA
crel: MBI SE A (el &
S - B S9(SH) - NAY - A S SR HIDS2
J| 126,588
Al 27,126
- 27,126
301 Let8dZ 180,840 100,320 80,520
| 126,588
Al 27,126
- 27,126
01 MBS HS(Z2REZE) 180,840 100,320 80,520
J| 126,588
Al 27,126
- 27,126
201 & 180,840 100,320 80,520
J| 126,588
Al 27,126
- 27,126
NENUAEZ=2X0|EA X
110,000 137 12& 180,840
J| 126,588
Al 27,126
- 27,126
HMEAd &= 5,963,891 4,493,956 1,469,935
J| 142,548
- 5,821,343
M=Ad2e] 5,963,891 4,493,956 1,469,935
J| 142,548
- 5,821,343
HM=Ald E2Y 2,889,119 2,743,045 146,074
J| 142,548
- 2,746,571
30 NMEZ2 2,537,748 2,588,015 AB0,267
J| 142,548
- 2,395,200
01 BAl- SHINNEZ 2,537,748 2,588,015 AB0,267
| 142,548
- 2,395,200
20/ & 2,537,748 2,583,015 AB0,267
J| 142,548
- 2,395,200
NASRUAZIMHEH 2H
1,752,162,000& 1,752,162
NMEISHEH 29 203,640,000 203,640
J| 142,548
- 61,092
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A MEXS
Hul: HSAlL =5
=Rl MsAlgael (Gt &
S - B S9(SH) - NAY - A S SR HIDS2
IEEEEESTICETES
3,600,000& 3,600
AESEH=SHH 29 2,255,345 893,000 1,362,345
203 RF=&H| 1,000 1,000 0
03 Al FRIHRFAIY| 1,000 1,000 0
=0 41 1,000 1,000 0
NAESEHHSHE 2 Y2EA
1,000,000& 1,000
307 QIZ2t0I A 2,254,345 889,000 1,365,345
05 RIZteIErE 2,254,345 889,000 1,365,345
201 & 2,254,345 889,000 1,365,345
NASSEMSHH 29 2,207,345,000% 2,207,345
NLSSSMSHEH FRE 22
40,000,000& 40,000
Nt e 2837 7,000,000 7,000
sUl MEAld |2 104,848 84,640 20,208
201 et H| 2,688 2,480 208
01 AtS2teltl 2,688 2,480 208
S0/ & 2,688 2,480 208
NOHEEH ARMSI ¢
336,000 =2 43| 2,688
203 RF=&H| 2,160 2,160
03 A EFRH2FZIY| 2,160 2,160
S0 &t 2,160 2,160
NS4l MSAIE S22 SRFH
2,160,000& 2,160
401 AIEHIZLS2UIYI 100,000 80,000 20,000
01 Al&H| 100,000 80,000 20,000
20 & 100,000 80,000 20,000
NsUl MSAIE X 2 B
100,000,000 100,000
SSHHERIHZE oF MAIF 0| 3At 20,658 0 20,658
401 AMIEBIZ U] 20,658 0 20,658
01 A&t 20,658 0 20,658
204 & 20,658 0 20,658
NSHSUEE 2 MAZ= 0|3 A 20,658
2)KEZEHE SAlM 014
20,658,000& 20,658
CENMEAN USENSHEH A& (MEAIY) 336,500 134,500 202,000
201 LEr23Ad| 1,000 1,000 0
01 AtR22telt| 1,000 1,000 0
20 & 1,000 1,000 0
NI Xe &= 1,000,000& 1,000
203 LRF&d| 500 500
03 AMEFRHRFXIY| 500 500
20l A 500 500
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SN MEHSY
Hu: SN HE

@ MsAlE22| (Gt &
S - BB BR(31) - NSAY - BaS S SR b=
NOSHEMSHH HE 42 =&
500,000 500
405 KH&HESHI 335,000 133,000 202,000
01 L SEFHSHI 335,000 133,000 202,000
20t 335,000 133,000 202,000
1)2E0H OHONCH2(BRIEE)
335,000,000 335,000
AHOE L MEAE =4 40,000 0 40,000
201 Et2AH| 40,000 0 40,000
01 AtR2teldl 40,000 0 40,000
S0/ & 40,000 0 40,000
DHSAS B2 X0 48 XA 8Y
40,000,000& 40,000
MEHE 2Ad3t 478,269 483,907 Ab,638
MeEtiggs KA 478,269 483,907 Ab,638
R0|s II=AUYE 29 142,269 125,907 16,362
30 NME2 142,269 125,907 16,362
01 BAl- SHINNEZ 142,269 125,907 16,362
20 & 142,269 125,907 16,362
)01 =L E SAAY)
142,269,000 142,269
AAZSHB 9 29 336,000 358,000 222,000
307 2I2t0|A 330,000 348,000 18,000
05 RIZtRIErE 330,000 348,000 A 18,000
20/ & 330,000 348,000 18,000
1)RIEH| 27,500,000 * 122 330,000
401 AIEHIZ20UIHI 6,000 10,000 24,000
01 AlI&HI 6,000 10,000 24,000
20 & 6,000 10,000 A4,000
NAIEE FIIotEEY 29
3,000,000& *23] 6,000
HE2FZH| 143,930 113,556 30,374
OlIH2YH|(MEN=IL) 115,766 113,556 2,210
olERAY|(Sett MRUFHE 29) 115,766 113,556 2,210
101 @IA4H| 115,766 113,556 2,210
2 JIEt& 2= 115,766 113,556 2,210
S0 & 115,766 113,556 2,210
NAIZFEERHIZ DM CHZ2(35A12F) 61,308
2)|2e 3,354,660& x12& x1.025 41,263
2)H =
69,850,000 +6%+0.875A1 2++1.025 3,759
25+ 100,000& = 12& 1,200
2)HAHZ A 140,000 *12& 1,680
2)ADIE AtH| 11,5403 *105A1 2¢ 1,212
A2t 222
11,3193 *30A 2t 122 *1.025 4,177
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SM: MBS
Hu: 2oy
Chel: ol 2oyl (MBS ) (e BT
S - B S(B) - NISAY - BAS S SR HIDS2
P 161,020& *12&%1.025 1,981
)28 2 58,457,627 &+ 7% 4,093
P ESI=1ENG] 185,000 *0.875A 2+« 122 1,943
1)AIZHEERIIIH 212 (35A12H) 54,458
2)JI=ol= 2,965,83021*1221%1.025 3,357
2)s Dol
58,006, 0002 *6+0.875AI 2h1.025 3,123
2)ESE 100,00021* 122 1,200
2)3 A Z Al 140,000 =123 1,680
2)DI2 4| 10, 1682 x105A[ 2+ 1,068
D)AIZHRl 2R act
10, 1623 *30A[ 2Ex 12 *1.025 3,750
2)EAR2aY 141,880 *12&+1.025 1,746
2)28= 52,046,000 *7% 3,644
2)XZ2XH| 180,0002 *0.875A1 2+ 122 1,890
Jl2ZH(MEMs) 28,164 0 28,164
SIEETERERS) 28, 164 0 28, 164
201 Ler2 o) 11,992 0 11,992
01 AtS2teltl 11,992 0 11,992
s3=01x 1,992 0 1,992
202 O4H| 14,112 0 14,112
01 =2WoHI 14,112 0 14,112
SH=0IA 14,112 0 14,112
203 FRF=&H| 2,060 0 2,060
I e 2,060 0 2,060
SH=O0IA 2,060 0 2,060
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